EAZAROZEBERT — 2 N—XIBISH—F 2017438208 (B) 2@+ =4A

mﬁi% 3 KEF (BE) [HET] E#h ‘ [Xfg] B ‘ [EmAE]l — | & (&) 18000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
son FERRRE R :55. -12-12- . . EEES (EXR)
il zvrsam0e 3 B 1(5_5)3 11-12-12-11{ 37.3 | 89.2 | 2 :1_73 i
R:xA1=Zdr7— B:3xY/ZX2—-51 EEitae
s : # o3 | dtRR— 1:55.7 4-4-4-2 | 38.2| 85.7 | 1 500 |MKEE (ER)
2|8|16| ¥=¥ 7Ky —R 56.0 2172 Lo | EEBE
L:y07% B:I77—LHILTa J—HrTp—L
—: N —: AILEAT : 00— MEAE—BB (/)
31713 Fv By v FF # 3 | Bl X7 T AR Rl Rt B B =
Y LTAN— B:TAXT TrZ—kENTp—L
< N . IRFRE : —3-3- DEEE— (EH)
2 ZTN— K 3 i 1(75?::)3 3-3-3-2 | 38.9] 80.6 | 4 ;1_764) mEe
R:v—N—FK BLXAXHELZX—> pusE ¢ ]
N Nt : -10-12- EhEZ (EE
TY IS NYT it 3 N (11.516/.45) 11-10-12-11| 38.4 | 78.8 | 9 (fi) i
L:T7H 79X B:xKY A XEY) T 7—L
3 S 4 3 | ERA— 1:56.8 9-10-8-6 |39.0| 76.3 | 14 | 468 |FIEHIEE (k)
SO NS 5.0 aom Gy | ) mms
L:hY/RIA4T B:T7—RNIA>T ARAINT7—L
- i 2 : -7-6-; P 3! Z
Y IINTZTILYG 3 gﬁéfg% (12517/2% 7-7-6-2 | 39.6| 73.3 | 3 436 ;%ig; €39
L ELT oY Rer BO-ZOvY #0) | apapss
S S MEZE= . -9—10— EEREA (BER)
IS ITHE 3 eI (11517/24) 9-9-10-9 [39.5| 71.5 | 5 (418) i
L:TUHA XTI R B:d—IKIL—Ta TR
— s 57, 14-15-16] 3.0 | 70. BEEE (FD
ZZHFILF o3 EA 1(757t)5 14-14-15-16| 39.0 | 70.4 | 7 (4358) g#gi
LTANWNTTFY— B —2—L-> R EE
F3x # 3 | KOED 1:58.2 4-4-8-10 |40.4| 65.7 | 13 | 504 |BHEL (RF)
N 56.0 (4) (-6) I EMER
LNAT ==L B:RY—LEALI—X =% 1E8h
o . s ERBZ . ~14-15- HNEEAESA (3E7H)
ZEZ XL —X i 3 o (17;578% 14-14-15-14| 39.7 | 65.1 | 8 (580) huﬁ‘zs{%%
LNMVTTY BIIERFIU-— BLtERS
= # 3 | BERE 1:58.6 4-4-4-6 | 41.1] 63.3 | 10 | 494 |iAF (E®)
Ty bL—7 ¥¢55.0 2 1/2) (+2) (75)%71—\/1 K
RW—5—-2y 7 B:A-—H>aC KL IS 4%
RSN # 3 | BEXLET 1:59.4 1-1-1-1 | 42.2| 58.5 | 11 494 | RARIL (EH)
13/ 5|10| FZ73~A#—F 4530 5) Clo) |EEEE
L:A— K754~ B:bhI-57 ERES
= # 3 | EEMEEC 1:59.6 11-12-6-6 | 42.0 | 56.8 | 15 | 430 |GXAEEZ (E#H)
14(7 (14| L7/ - 56.0 (1 1/2) © |FHEE
RixvyyLgdyk BiFLIIUAS A5 F0FR
. N . EEET . _16_10- ElEns (ER)
151815 YY=>T KT >3 | BER 2.(0;)).1 16-16-10-13| 42.2 | 53.4 | 12 <3E6) ol
8= /XLy b BiYRZ T fidsEve]
B 3 | HEX 2:01.1 8-8-14-14 | 42.8| 47.2 | 16 | 352 |BEAEX (i)
16/1]2| 75 £52.0 ©) L |BIIET
i R—N—FK—%y b BTRUT—% H2 Ok
@ 71 L
) 51.5-38.1
NA> &AL | 12.9-11.1-13.4-13.6-12.8-13.4-13.7-12.2-12.2
® I —F—@EBIERL
13=3r= (¥10,13)11(5,8,16)3,2(4,12) (1,9,14)=(6,7)15
2= = (¥10,13)-11(5,8,16)3,2,12(4,9) (1,14)-(6,7)-15
Gol=5r= (¥10,13)11(8,16) (3,14) (5,4) (12,15) (1,9)2(6,7)
43—+ — (x10,13,11,16,3) (8,4,14)12,5(1,9)15-(2,7)6
[ N3
BB 1 350M 714K 1-16 130H e E 1-8 180H JEHE 1-13-16 1,300M
8 B 1 110 1-13 870M B = 1-16 210M B 1-16-13 5,000/
16 110 13-16 650F B H 1-16 600
13 340H

ABICOVWTRDTEEERROODE. TR LIV,




